X3t 2 RIEINERS

FAP AR 10958 & &

b g

-—

- ~H-FEE 0% L)

1. (

2. (

3. (

4.(

5. (

6. (

7.(

) F Al P IR
(A) 07 4pF &
(B) —1.2¢pr i 1.2
(C) —16=4p Kk B 5 16
(D) 3epF s —3

) T E S ) M e R

W [ =21>0
(B) [ —4]>—45ipF &
(C) —3epk #&>0
M [ =5.5]<]|—6|
) T?ljfﬁ;ﬂkﬁi‘—?
(A) 6+8=14

B) (=9 +(—4)=-13
(C) 12+(—6)=—6

(D) (—16)+5=—11
) 3 E 21-36—(—16)—(—1T)=7?

i,

¥

A 18
(B) —16
€) —14
(D) —48
) 3+E [ 26—(—14)| — 62| =72
(A) —50
(B) —22
(C) 50
(D) 112
) deat §ow g 00) ~ A8) ~ B(—2) ~ ((—9)

RIvR S BEeFESE A < 7
(A) 4~ B
(B) B~ C
(C) 4~C
D) C~0

B (= Dx(=2)x(—3)xe e x(—100) 18 82

0ch= ] RERE®?
(A) =30
(B) &t 0
(C) 'J‘*":‘O
(D) # - =

7

p - EBEEAT - %

P ORE 0 WL

b

el

e %

8.( ) 2B (—28:7)+[8:(—2)]=
(A) —

(B)

©)
D) 1

N TS N

?

9.C ) & 18+ (—Dx[18—|(—6)x2] ]+3="7?

(A) 10
(B) 26
(C) —22
(D) 14

10.C ) T owmi— it ihid a f #?

(A) (—5)'%5’

(B) (—=5)x(—=5)*x(—5)
(C) (—=5H%x(—5)’

(D) (—5)’x(—5)x(—5)

S BA I HRFRILA))(EHA L)

1. 4c% A& r+J 50 0 AE M l—_J % 77 o ’J“JLE

A 450 2% ms (1) 2
2. —9epF A (2)
3. | —-8|=_@0B) -
4. (—45)+(—172)= (4) °
5. 457+5314+(—45T)=_(H) °
6. st > £ |al=15>ma=_ () -
7. | (=D+T] = (=)= |=_DO -
8. #M 3 Ala) >~ B(—8)d g > 4ok AB e B %%

10 8la=__ (8 °

P1 (IERHEAHE)



9. #cit§ A B~ ((—5)=8>% 4 5 B~ C

e g Rla=_ (9 o

10. 273X (—=531)+727x(—=531)=__(0) -

11. 995X (—35)= ap -

12. (—2)°= 12) -

13. (=D 4+(—D’+(=D'+(—=1y=_(013) -

14. 2 10 en=x = 2535 £ 5% 1000000 5 (14 -

15. 12 10 s = 2525 4 7 0.000000001 5 (15) -

~FEA20% (FERMEREIIEE)

17 A Ap s Sends o 80 4 5 B +1

AAWREF 1A —3AF L RERI S o p ET

FIREE L (b &)

#op | R | FF | KT | APE| g

gRA®SL | +18 +15 —6 —11 +4

(1) L=enieg 2585540 o
()T 49 > Adh F frd el p AL 5 0 A o

2. BTEw E TR (84)
B D y C

| | 4 | | | | | . | |
I I I

(D#F AL 5 3 Cd &5 60 B PRSP
D BLHEL P ?

(2)F Dgs hg BRI —15 R A B 4R5 |

? CELEEFRL WY

3. (1) @ $HiE | » 6 enf At viit 2 (3 4)
(2) W& | 7 fic| <5 enfFfc? § vt 2 (3 4)

4, ¢ =% E 7 25—Ox(—2)~ » 2=+ 7(—3b)+
45055 > BT TS Aed THEBAPL S S A?
(6 ~)

P2 (IERHEHHE)

?

¥

AL 3RE



